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YOUR TURN...
1.  Determine the slope, the x intercept and the y intercept of the following line...

6x ­ 3y + 9 = 0

b)

2.  Determine the equation for each of the following lines...
     Put the equation in the slope ­ y intercept form.

a)  passes through the points (­4, 6) & (0, ­8).



Untitled.notebook

3

November 19, 2014



Untitled.notebook

4

November 19, 2014

How about this one using y = mx + b?
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Slope ­ Point Formula...

YOU NEED... 1)  slope  & 2) a point on the line
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EXAMPLE #3:

Determine the equation of the line that passes 
through (­1, 4) & (3, ­12).
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